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9 4 Practice Problems

1) Simplify(zx/g ). 2) Do the sides /15,943, 43 make a_)right, acute or obtuse triangle?
15220 (A65)* (a5 43’
J fe Ha5 Y. b3
; = 1 + 48
43 (712 6O
“__/ s F\l‘ h_}, T"“”J‘Q,‘P v
3) Find the height of the triangle below. 4) Solve for x. '
he3%y’ 208

g | ,
+9 =499 24t 2
" L. a2

RBL R s = €76

s I S = o,

Gl =£0 ~37R
ANEITE
— -3¢0 -6
(x4
X =&
5) Solve for d. 6) Simplify (4v/5)(3V4).
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8) Simplify+/20 +3v/45 -5 .
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9) Given the sides of a triangle being 8\]‘_ 2,4and 12 dec1de whether the triangle is right, acute or obtuse?
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10) Find the length of the radius of circle A.

11) Find three similar triangles. 12) Find x.
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15) Find the geometric mean of 14 and 20. 16) Find the geometric mean of 24 and 45
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